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1. COMPREHENSION

Read this passage and answer the questions following .
Once, it would have been regarded as ml ideal development project ¥ strai
way of generating large amounts of money with which to reduce poverl Y@n; day.
lot more complicated. The proposal to build an oil pipeline between.w had"and;
promises to bring jobs, government revenues, private mvestm ) { wth and
regional cooperation to a troubled, impoverished area of the WOf‘ ~pipeline
would, of course, be costly to fund - an estimated S350 milli TS could be
extensive and though the price of the core coml] 10dity - i :
product is the basis of modern industrial society and W11
future. In addition, several of the world's biggest comy
World Bank.

and far- reachmg effects on the econom gf
ago, that would have been the end o&tﬁ
confident fanfare. Nowadays, ho

Environmentalists suchz
camerounais (Defence of the‘“ vironment) complain that construction of the,
plpelme will damage f%w I ‘addition, they argue, construction will produce

§§ in the 011V and hotel sectors. A few years
! »RWOJGC'[ would have been launched with a
fa‘head is beset by d1fﬁcultles

most identical with epidemiological maps tracking the
able people, such as the Cameroonian pygmies, will be

y fanners will lose their land, almost certainly without
. When the pipeline is complete, runs the argument, highly
_~as was the case in the area inhabited by Nigeria's Ogoni people,
‘Epklash and severe repression, culminating in the execution of eight
the writer Ken Sera- Wiwa.

QUESTIONS
a) Gwve two advantages expected from the project.
b) Give two disadvantages that the project may cause.
¥-c) How many countries arc affected by the project? Name
them.
d) Who is Supporting the project? Who is opposing it?
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€) Where else in Africa was such a project carried out? What happened, and with what
results.
) Suggest a heading for this passage.

2,
GRAMMAR
a) What is the noun [onl1ed from 'reduce?
b) Give the adjective formed from
poverty.
¢) What is the singular of people? '

d) Give the opposite of complicated;
e) Which is the correct sentence?
i) 111e children's clothes are clean
i) The children’s' clothes are clean.
f) Put this sentence in the plural
The boy has eaten his food.
g) Which is the correct sentence?
1) John is the tallest of the three boys.
ii) John is the taller of the three boys. £
h) Which is the correct sentence?
i) Mary sleep soundly
ii) Mary sleeps soundly
iii) Mary sleeps sound.

3. SYNTAX N
a) Rewrite these sentendes so tha
noun. :
1.} Young an
i1) Being in a

fig sentence in the active voice:
as built by our parents.

ESSA y (6 marks)
Write au essay of about 250 words on one of the following topics:

“ife is easier in the village than in
fown.
2) Education is the best investment.
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